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1.How can you export score code generated by SAS Visual Statistics for a trained model?
A. By copying and pasting it into a text editor

B. By exporting it as a standalone script file

C. By printing it directly from the SAS Visual Statistics interface

D. By exporting it as a PDF document

Answer: AB

2.Refer to the exhibit:

Mame Mimirnuer Wax i Averags

Target Gift Ameunt

Which is the modeling approach that should be used when fitting the Target Gift Amount variable?
A. Linear regression model with Interaction effects.

B. Generalized linear model with a Poisson distribution and Identity link.

C. Generalized linear model with a Normal distribution and Log Link.

D. Logistic regression model.

Answer: C

3.When evaluating a Misclassification plot, what does it typically show?

A. The distribution of predictor variables in the dataset

B. The relationship between two predictor variables

C. The trade-off between false positives and false negatives at different thresholds
D. The p-values associated with the predictor variables

Answer: C

4.In SAS Visual Analytics, which of the following tasks involves converting a categorical variable into a
numerical one?

A. Aggregating a measure

B. Creating a dummy variable

C. Replacing dirty data

D. Transforming a variable

Answer: B
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5.You perform a logistic regression on a multinomial response variable in SAS Visual Statistics that has 3
levels: Small, Medium, Large. "Large" is specified as the event.

Which statement is true?

A. The other levels are grouped into one non-event.

B. An ordinal logistic regression is performed.

C. A multinomial logistic regression is performed.

D. The other levels are offset to account for exposure.

Answer: A
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